2 THE=42Y IHRE
( # % B & )
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EH T =2V 7 A ke )

(EEFMEARER AW ) RER 51

(BT :mg/L)

X HET A4 tEM INRTH

M XHET = —R 202 203

HX 4 I ET TEMHih

1 X5 0230 0040

HEEE 000100 002000

FH VR (m) 6 30

& RIFF EHF EHPE

Fi&IX 5y ZDfth TEAK

PAKEH H R5.7.19 R5.12.6 R5.7.10 R5.12.5

KIE(C) 18.5 18.0 18.0 16.5

XS (nS/m) 12.6 12.6 19.6 19.0

pH 6.0 6.1 AR R S 6.6 7.0 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
T X T 4 INATR INATR

XA = —R 203 203

HuX 44 FrIEET FrIEET

1 X5 0350 0350

HEEE 001300 001400

FHF VR (m) 40 54

& RHFF EHPE EHPE

X 5y TIEAK TIEAK

PAKEH H R5.7.10 R5.12.5 R5.7.10 R5.12.5

KIE(C) 19.0 15.5 19.2 16.2

XS (mS/m) 17.0 16.2 12.3 13.9

pH 6.4 6.2 A 6.0 5.8 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 0.0017 0. 0032 0.0025
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P 0. 001 0. 002 0. 002 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
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EH T =2V 7 A ke )

(EEFMEARER AW )R EEH532)

(BN :mg/L)

X HET A4 INRTH e

M XHET = —R 203 204

HuX 44 KA HT A FHET

1 X5 0670 0010

HEEE 000100 000130

FH VR (m) 45 3

& RIFF B EHF

Fi&IX 5y TEAK HERAK

PAKEH H R5.7.10 R5.12.5 R5.7.25 | R5.11.28

KIE(C) 20.2 18.8 15.5 13.0

XS (nS/m) 44.2 50.3 34.0 33.2

pH 7.6 8.0 AR R S 7.0 7.0 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 0. 006 0. 005 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 0.0012 0. 0009 0.0005 [< 0.0005 0. 0005
T X T 4 WS mE

XA = —R 204 206

HuX 44 A FHET H F.ET

1 X5 0010 0080

HEEE 000140 000300

FHF VR (m) 5 4

& RHFF EHF EHF

Hi&X 5y HERAK HERAK

PAKEH H R5.7.25 | R5.11.28 R5.7.13 | R5.12.14

KIE(C) 18.5 14.8 18.5 11.5

XS (mS/m) 25.9 25.9 14.5 14.0

pH 1.2 1.0 A 6.3 5.8 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0.0013 0. 0021 0.0017 0. 0034 0. 0045 0.0040
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EME=2V VREGGER)  GERMEERIERILEY A )l R 57 3) (BAAZ :mg/L)
X HET A4 mE™ PFIMETH
HiXITAfa—R 206 207

HuX 44 IR R HNAEHET

Hi X 5 0490 0030

HAES 000300 000500

FH VR (m) ;] 10

& EHF T EHF

P — & e Z Dtk
BAKEAH R5.7.13 R5.12.14 - R5.12.13

AKIRCEC) 19.5 16.8 - 15.0

BRI E R (mS/m) 19.8 19.6 - 46. 2

pH 6.4 5.9 | FHEHIE - 6.7 | FHEHIME
D 4=3=5'% 8% < 0.002 < 0.002 < 0.002 - < 0.002 < 0.002
MU bR SR < 0.0002 < 0.0002 < 0.0002 - < 0.0002 |< 0.0002
V=1=tats o P < 0.0002 < 0.0002 < 0.0002 - 0.15 0.15
1,2->ranaxi < 0.0004 < 0.0004 < 0.0004 - < 0.0004 < 0.0004
1,1-YZupnxFL < 0.002 < 0.002 < 0.002 - < 0.002 < 0.002
1,2->7aaxFL < 0.004 < 0.004 < 0.004 - 0.013 0.013
1,1,1-N)/man=xx < 0.0005 < 0.0005 < 0.0005 - < 0.0005 |< 0.0005
1,1,2-N) o=k < 0.0006 < 0.0006 < 0.0006 - < 0.0006 |< 0.0006
N ZooxzFL o < 0.001 < 0.001 < 0.001 - < 0.001 < 0.001
Tho7runxFL < 0.0005 < 0.0005 < 0.0005 - < 0.0005 |< 0.0005
T X T 4 TEH (SHEX) PIvET

XA = —R 207 207

HX 4 HItSHET SR

Hi X 5 0030 0070

HFAES 000600 000400

FEP R (m) BH 40

& EHF H EHF

Hi&X 5y ZDith ZDith
BAKEAH R5.7.13 - R5.7.6 R5.10.5

KIRCC) 18.2 - 23.2 23.0

FERAEE R (mS/m) 38.8 - 33.6 31.8

pH 6.7 - A 8.0 1.8 | FREIME
D A=1= % < 0.002 - < 0.002 < 0.002 < 0.002 < 0.002
MUsEAb iR 3R < 0.0002 - < 0.0002 |[<0.0002 [< 0.0002 [< 0.0002
Va=1=tts o P2 0.019 - 0.019 < 0.0002 < 0.0002 < 0.0002
L,2->ranaxiy < 0.0004 - < 0.0004 |[<0.0004 < 0.0004 [<0.0004
1,1-YZupnxFLv < 0.002 - < 0.002 < 0.002 < 0.002 < 0.002
L,2-/anaxFlL 0. 008 - 0. 008 < 0.004 < 0.004 < 0.004
1,1,1-FN)/anxx < 0.0005 - < 0.0005 (< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)7unxz < 0.0006 - < 0.0006 |[< 0.0006 [< 0.0006 [< 0.0006
[N P/A=1=tt 0 % < 0.001 - < 0.001 < 0.001 < 0.001 < 0.001
VAl NA=i=5 P < 0.0005 < 0.0005 |[< 0.0005 [< 0.0005 [< 0.0005

Xﬂ%ﬁWFW#FEF%%Ww R REHF.
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EH T =2V 7 A ke )

(EEFEMEARER AW )R EEH574)

(BT :mg/L)

X HET A4 B B

M XHET = —R 210 210

HX 4 = sk T T = ERHET

1 X5 0030 0040

HEEE 000500 000100

FH VR (m) 40 85

& RIFF EHPE EHPE

Hi&X 5y — & e — & e

PAKEH H R5.7.4 R5.12.19 R5.8.7 R5.12.19

KIE(C) 16.9 15.0 18.5 14.7

XS (nS/m) 22.17 22.5 25.9 24.17

pH 7.0 6.5 AR R S 6.9 6.6 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 < 0.0005 < 0.0005 0. 0006 0. 0007 0.0007
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0.0012 0.0012 0.0012 (< 0.0005 [< 0.0005 [< 0.0005
T X T 4 B B

XA = —R 210 210

HuX 44 FrHEET = sk BT

1 X5 0100 0120

HEEE 000200 000600

FHF VR (m) 130 100

& RHFF B EHPE

Hi&X 5y TEAK HERAK

PAKEH H R5.7.18 | R5.12.20 R5.7.5 R5.12.18

KIE(C) 18.8 12.2 17.5 13.0

XS (mS/m) 25.7 23.2 24.9 24.5

pH 6.8 1.0 A 6.6 6.7 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 0. 0007 0. 0006 0.0007
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 0.0008 0. 0007 0. 0006 0. 0006 0. 0006
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EH T =2V 7 A ke )

(EEFEMEARRER AW ) RN 535)

(BT :mg/L)

X HET A4 B B

M XHET = —R 210 210

HX 4 = sk BT = K FrHT

1 X5 0120 0130

HEEE 000700 000500

FH VR (m) 80 ]

& RIFF B EHPE

Fi&IX 5y HERAK — & e

PAKEH H R5.7.4 R5.12.19 R5.8.7 R5.12.19

KIE(C) 22.0 12.9 19.2 13.1

XS (nS/m) 24.3 23.8 23.9 22.9

pH 6.5 6.3 AR R S 6.7 6.5 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k 0.0012 0.0017 0.0015 (< 0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 0. 001 0. 001
FrrauTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
T X T 4 B B

XA = —R 210 210

HuX 44 )1 ET )1 ET

1 X5 0330 0330

HEEE 000300 000400

FHF VR (m) 80 40

& RHFF B T~H

H&X 5y — % ER A — % ER A

PAKEH H R5.7.5 R5.12.20 R5.7.4 R5.12.20

KIE(C) 15.4 15.0 17.5 15.5

XS (mS/m) 24.7 24.8 23.5 29.6

pH 6.6 6.7 A 6.4 6.6 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0. 0011 0.0013 0.0012 0.0007 [< 0.0005 0. 0006
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EH T =2V 7 A ke )

(EEFMEARER AW ) R EEH536)

(BT :mg/L)

X HET A4 B B

M XHET = —R 210 210

HuX 44 iEPLES iEPLES

1 X5 0330 0330

HEEE 000500 000600

FH VR (m) 110 40

& RIFF B ;]

Fi&IX 5y — & e TEAK

PAKEH H R5.7.5 R5.12.19 R5.7.4 R5.12.20

KIE(C) 17.0 14.5 16.6 16.0

XS (nS/m) 20.1 23.6 26.6 25.8

pH 6.7 7.0 AR R S 6.4 6.6 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 0. 0006 0. 0006 0. 0007 0. 0008 0. 0008
T X T 4 B B

XA = —R 210 210

HX 4 Mg Mg

1 X5 0380 0380

HEEE 000500 000600

FHF VR (m) 50 50

& RHFF B T~H

Hi&X 5y HERAK Z Dt

PAKEH H R5.7.4 R5.12.19 R5.7.5 R5.12.18

KIE(C) 17.5 14.1 17.0 13.1

XS (mS/m) 24.2 23.5 22.0 22.2

pH 6.4 6.4 A 6.5 6.6 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0. 0008 0. 0009 0. 0009 0. 0007 0. 0008 0. 0008
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EH T =2V 7 A ke )

(EEREMEARER AW ) RER5T)

(BN :mg/L)

X HET A4 B B

M XHET = —R 210 210

HX 4 Mg Mg

1 X5 0380 0380

HEEE 000700 000800

FH VR (m) 70 49

& RIFF B ;]

Fi&IX 5y HERAK — & e

PAKEH H R5.7.4 R5.12.18 R5.7.5 R5.12.18

KIE(C) 20.5 8.0 21.4 13.5

XS (nS/m) 23.3 23.2 22.2 22.2

pH 6.5 6.6 AR R S 6.6 6.7 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0. 0006 0. 0008 0.0007 < 0.0005 [< 0.0005 [< 0.0005
T X T 4 B B

XA = —R 210 210

HX 4 Mg Mg

1 X5 0380 0380

HEEE 000900 001000

FE R (m) B 120.7

& RHFF B T~H

Hi&X 5y Z Dt — % ER A

PAKEH H R5.7.4 R5.12.18 R5.7.4 R5.12.18

KIE(C) 19.5 14.9 15.8 13.5

XS (mS/m) 23.1 23.9 24.7 24.9

pH 6.5 6.8 A 6.6 6.8 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 0. 0006 0. 0006 0. 0006 0. 0006 0. 0006
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EH T =2V 7 A ke )

(EEFEMEARER AW )R EH538)

(BN :mg/L)

X HET A4 B B

M XHET = —R 210 210

HX 4 Mg Mg

1 X5 0380 0380

HEEE 001100 001200

FH VR (m) 138 80

& RIFF B ;]

Fi&IX 5y — & e HERAK

PAKEH H R5.7.4 R5.12.18 R5.7.4 R5.12.19

KIE(C) 16. 6 13.5 18. 1 14.7

XS (nS/m) 25.4 25.17 23.2 21.9

pH 6.6 6.9 AR R S 6.6 6.6 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0. 0007 0. 0007 0. 0007 0. 0006 0. 0006 0. 0006
T X T 4 B B

XA = —R 210 210

HX 4 Mg Mg

1 X5 0380 0380

HEEE 001300 001400

FHF VR (m) 80 141

& RHFF B T~H

Hi&X 5y HERAK TEAK

PAKEH H R5.7.4 R5.12.19 R5.7.5 R5.12.18

KIE(C) 15.0 14.3 17.6 14.0

XS (mS/m) 23.4 23.2 25.2 24.2

pH 6.6 6.6 A 6.6 6.7 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0. 0005 0. 0006 0. 0006 0. 0005 0. 0008 0. 0007
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EH T =2V 7 A ke )

(EEREMEARER AW )R EH539)

(BT :mg/L)

X HET A4 B B

M XHET = —R 210 210

HX 4 Mg TR ET

1 X5 0380 0430

HEEE 001500 000300

FH VR (m) 140 51

& RIFF B ;]

Fi&IX 5y TEAK — & e

PAKEH H R5.7.5 R5.12.18 R5.7.5 R5.12.18

KIE(C) 16.7 13.5 17.0 15.5

XS (nS/m) 36.7 25.0 23.2 22.9

pH 6.9 6.9 AR R S 6.6 6.7 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 < 0.0005 |< 0.0005 0.0018 0.0023 0. 0021
T X T 4 B B

XA = —R 210 210

HuX 44 15 BT EBE

1 X5 0440 0480

HEEE 000100 000100

FHF VR (m) 60 100

& RHFF EHPE EHPE

X 5y TIEAK TIEAK

PAKEH H R5.7.18 | R5.12.19 R5.7.4 R5.12.18

KIE(C) 15.7 14.0 22.0 11.0

XS (mS/m) 25.0 22.2 25.3 24.7

pH 6.8 6.5 A 6.8 1.2 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
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EH T =2V 7 A ke )

(EHEFEMEARER S ) REH53710)

(BN :mg/L)

X HET A4 B B

M XHET = —R 210 210

HuX 44 BE EBE

1 X5 0480 0480

HEEE 000600 000700

FH VR (m) N 70

& RIFF B ;]

Fi&IX 5y ZDfth TEAK

PAKEH H R5.8.8 R5.12.18 R5.8.8 R5.12.19

KIE(C) 22.0 12.0 17.0 13.9

XS (nS/m) 25.6 26.0 25.9 25.3

pH 6.5 1.2 AR R S 6.6 6.9 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 |< 0.0005 [< 0.0005 |< 0.0005 0. 0005 0. 0005
T X T 4 B B

XA = —R 210 210

HuX 44 % R ET J\EhET

1 X5 0540 0650

HEEE 000300 000100

FHF VR (m) 50 ]

& RHFF B T~H

H&X 5y — % ER A — % ER A

PAKEH H R5.7.5 R5.12.18 R5.8.8 R5.12.18

KIE(C) 14.5 14.1 22.0 15.0

XS (mS/m) 21.3 19.9 26.2 25.5

pH 6.8 6.7 A 6.5 6.5 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 0. 001 0. 001
FrS/unTFL < 0.0005 0. 0005 0.0005 < 0.0005 [< 0.0005 [< 0.0005
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EH T =2V 7 A ke )

(EEFMEARER AW ) RER 5T 11)

(BT :mg/L)

X HET A4 g Framm

M XHET = —R 210 212

HX 4 F FFHET 1HEp

1 X5 0660 0010

HEEE 000100 000400

FH VR (m) 100 100

& RIFF B EHPE

Hi&X 5y — & e — & e

PAKEH H R5.7.5 R5.12.20 R5.7.24 | R5.12.13

KIE(C) 15.7 15.4 18.5 18.5

XS (nS/m) 23.2 22.5 15.7 17.6

pH 6.6 6.6 AR R S 6.6 6.5 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0. 0007 0. 0008 0.0008 (< 0.0005 0. 0005 0. 0005
T X T 4 Framm Framm

XA = —R 212 212

HX 4 ¥ HIFRIR

1 X5 0010 0040

HEEE 000800 000100

FHF VR (m) 30 30

& RHFF EHF EHPE

Hi&X 5y Z Dt HERAK

PAKEH H R5.7.24 | R5.12.13 R5.7.24 | R5.12.13

KIE(C) 17.7 17.7 18.0 18.0

XS (mS/m) 16.3 16.9 16.6 14.7

pH 6.5 6.3 A 6.5 6.6 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 [< 0.0005 |< 0.0005 0. 0005 0. 0007 0. 0006
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EE=2U 7 RAEGRCER)  (EREAEEREY o) REMS712) (BAL:me/L)

it X R] 4 R VEHET ki

i X k= —R 361 365

X 4 AH KB

Hit X 0010 0040

HFEE 001000 000900

FE R (m) 130 PN

R RIFFE i

FRIRIX 5y TERK —h& Bk

BRAKMEA H R5.9.19 | R5.12.14 R5.7.11 |R5.12.14

KIR(C) 22.0 13.0 17.0 18.5

FERUSEE (mS/m) 43.3 40.9 21.6 21.8

pH 1.7 1.7 EREEAE T 7.0 AERESE
DrnnAsL < 0.002 |<0.002 <0.002 [<0.002 < 0.002 < 0.002
W ArES < 0.0002 [< 0.0002 < 0.0002 [< 0.0002 < 0.0002 < 0.0002
sonzFL 0.0012  0.0014 | 0.0013 |< 0.0002 [< 0.0002 < 0.0002
1,2-Y/naxiy < 0.0004 [< 0.0004 < 0.0004 |[< 0.0004 < 0.0004 < 0.0004
L,1-Y7aaxFL o < 0.002 |<0.002 <0.002 [<0.002 < 0.002 < 0.002
1,2-YranzFL 0.035 = 0.042 | 0.039 [<0.004 [<0.004 [<0.004
1,1,1-Nyanxzy < 0.0005 [< 0.0005 < 0.0005 [ 0.0006 < 0.0005  0.0006
1,1,2-NJrma=xgy < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 < 0.0006 < 0.0006
N ZoozFLy 0.018 = 0.025 | 0.022 [<0.001 [<0.001 [<0.001
FhFranTFL < 0.0005 [< 0.0005 < 0.0005 [< 0.0005 < 0.0005 < 0.0005
i XHT S 4 S HEHET

i XA k= —R 384

HiX 4 = Skt EERT

Hit X 1030

HFE 001000

H R EE (m) 13

kI EHF

FARX 5y Z Ot

AR H R5.7.26 | R5.12.7

KIR(C) 20.0 15.0

BRAEEE (mS/m) 40. 2 37.7

pH 7.4 7.6 FERTESE

Dranis < 0.002 [< 0.002 < 0.002

e ArES < 0.0002 [< 0.0002 < 0.0002

yanxFL 0.13 < 0.0002 = 0.065

1,2-Y /ol < 0.0004 [< 0.0004 < 0.0004

1,1-oZaaxFL 0.005 < 0.002 | 0.004

1,2-Y/aaxFLy 0.33 0.007 = 0.17

1,1,1-N)yan=szy < 0.0005 [< 0.0005 < 0.0005

1,1,2-N)rmnxsy < 0.0006 |< 0.0006 < 0.0006

N /oo FLy < 0.001 [< 0.001 < 0.001

FRI/onTF L < 0.0005 [< 0.0005 < 0.0005
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EH T =2V 7 A ke )

(GHEFEMEA R R EY &R HE 77 1)

(BT :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HX 4 B OHT B’h

1 X5 0010 0010

HEEE 000800 000900

FH VR (m) 100 81

& RIFF EHPE EHPE

Fi&IX 5y TEAK HERAK

PAKEH H R5. 6. 28 R6.2.15 R5.6.28 R6.1.24

KIE(C) 16.3 15.4 23.8 13.0

XS (nS/m) 24 24 25 25

pH 6.8 6.7 AR R S 6.9 6.8 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0. 0040 0.0043 0. 0042 0.0022 0. 0021 0.0022
T X T 4 &iR™ £iR™

XA = —R 201 201

HuX 44 s BAET s BAET

1 X5 0010 0010

HEEE 001000 001100

FHF VR (m) 80 80

& RHFF EHPE EHPE

H&X 5y — % ER A — % ER A

PAKEH H R5. 6. 28 R6.1.24 R5.6.28 -

KIE(C) 21.5 13.0 23.0 -

XS (mS/m) 29 29 26 -

pH 7.1 1.0 A 7.0 - A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
VU R SR < 0.0002 (< 0.0002 < 0.0002 |[< 0.0002 - < 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |[< 0.0002 - < 0.0002
1,2-Yruax iy < 0.0004 < 0.0004 < 0.0004 [< 0.0004 - < 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 - < 0.004
L1,1-M)ranxgy < 0.0005 (< 0.0005 < 0.0005 |[< 0.0005 - < 0.0005
1,1,2-N)yuaxx < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 - < 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 - < 0.001
FrS/unTFL 0. 0020 0. 0024 0.0022 0. 0025 - 0. 0025
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EH T =2V 7 A ke )

(GEFEMEA R R EY) &R HE N 772)

(BT :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HuX 44 e H i FHET

1 X5 0010 0010

HEEE 002000 003500

FH VR (m) 150 70

& RH A EHPE ;]

Fi&IX 5y HERAK ZDfth

PAKEH H R5. 6. 28 R6.1.23 R5.6.28 R6.1.26

KIE(C) 15.6 14.0 19.5 16. 2

XS (nS/m) 25 25 9.6 23

pH 7.0 6.9 AR R S 1.7 7.3 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL 0. 001 < 0.001 0. 001 < 0.001 < 0.001 < 0.001
FrrauTFL 0.0024 0. 0020 0.0022 < 0.0005 [< 0.0005 [< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HuX 44 Y2 1| BT A HET

1 X5 0020 0020

HEEE 000400 001000

FE R (m) B 158

& RHFF B EHPE

Hi&X 5y HERAK — % ER A

PAKEH H R5.6.29 R6.1.25 R5.6.29 R6.1.26

KIE(C) 19.5 13.1 21.0 15.0

XS (mS/m) 22 21 18 18

pH 6.8 6.7 A 6.7 6.7 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0. 0086 0.0074 0. 0080 0. 0061 0. 0039 0. 0050
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EH T =2V 7 A ke )

(GEFEMEE R R EY &R HE N 773)

(BN :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HuX 44 &L [

1 X5 0020 0020

HEEE 002200 002400

FH VR (m) 80 120

& RIFF EHPE EHPE

Fi&IX 5y HERAK HERAK

PAKEH H R5. 6. 30 R6.1.22 R5. 6. 30 R6.1.26

KIE(C) 21.0 13.1 25.4 11.5

XS (nS/m) 26 25 17 17

pH 1.2 1.2 AR R S 1.3 7.0 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 < 0.0002 [< 0.0002 (< 0.0002
JanxFLy < 0.0002 < 0.0002 |< 0.0002 < 0.0002 [< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 [< 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 < 0.0005 < 0.0005 < 0.0005 [< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 < 0.0006 |< 0.0006 < 0.0006 [< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 [< 0.001 < 0.001
FrrauTFL 0. 0040 0. 0040 0. 0040 < 0.0005 [< 0.0005 |< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HuX 44 EJIIET JbRT

1 X5 0020 0020

HEEE 003200 003700

FHF VR (m) 150 60

& RHFF EHPE EHPE

Hi&X 5y HERAK HERAK

PAKEH H R5.6.29 R6.1.26 R5. 6. 26 R6.1.25

KIE(C) 14.5 12.5 16.5 15.0

XS (mS/m) 23 22 23 25

pH 6.6 7.1 A 6.6 6.9 A
D a=1=5% %4 < 0.002 < 0.002 (< 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 < 0.0002 (< 0.0002 (< 0.0002 < 0.0002
VA=i= s S A < 0.0002 < 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-Yruax iy < 0.0004 < 0.0004 [< 0.0004 (< 0.0004 [< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 (< 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 (< 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-N)yuaxx < 0.0006 < 0.0006 [< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006
[P A==t S P < 0.001 < 0.001 (< 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0.043 0.060 0.052 0. 0047 0. 0035 0. 0041

- 203 -




EH T =2V 7 A ke )

(AR R EY) &R FE 774

(BN :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HuX 44 i) &L

1 X5 0020 0020

HEEE 003900 005000

FH VR (m) 70 85

& RH A EHPE ;]

Fi&IX 5y — & e HERAK

PAKEH H R5. 6. 26 R6.1.22 R5.6.29 R6.1.22

KIE(C) 15.7 14.7 21.0 12.0

XS (nS/m) 18 18 25 26

pH 7.1 7.1 AR R S 6.8 6.9 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL < 0.0005 < 0.0005 |< 0.0005 0. 0045 0. 0040 0. 0043
T X T 4 &iR™ £iR™

XA = —R 201 201

HuX 44 &L REFAET

1 X5 0020 0020

HEEE 005100 006200

FHF VR (m) 90 ]

& RH A EHPE T~H

Hi&X 5y HERAK — % ER A

PAKEH H R5. 6. 30 R6.1.25 R5. 6. 26 R6.1.25

KIE(C) 19.8 1.7 17.7 15.0

XS (mS/m) 17 21 23 24

pH 1.3 1.6 A 6.7 6.7 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0.0020 [< 0.0005 0.0013 0.0022 0.0018 0.0020
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EH T =2V 7 A ke )

(EFEMEA R R EY) &R HE N 775)

(BT :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HX 4 SHRHET HEF

1 X5 0020 0020

HEEE 007200 007500

FH VR (m) 80 60

& RIFF EHPE EHPE

Fi&IX 5y HERAK HERAK

PAKEH H R5. 6. 26 R6.1.25 R5. 6. 26 R6.1.25

KIE(C) 19.5 15.2 19.5 14.0

XS (nS/m) 29 28 41 37

pH 7.3 7.1 AR R S 1.2 1.2 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FrrauTFL 0. 0022 0.0028 0.0025 [< 0.0005 [< 0.0005 [< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HX 4 FE ER 5 A< HT

1 X5 0020 0020

HEEE 007600 007700

FHF VR (m) 150 100

& RHFF EHPE EHPE

Hi&X 5y HERAK HERAK

PAKEH H R5. 6. 30 R6.1.26 R5.6.28 R6.1.26

KIE(C) 17.6 13.7 17.0 13.2

XS (mS/m) 21 21 16 15

pH 1.3 1.3 A 7.4 1.3 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0.026 0.016 0. 021 < 0.0005 [< 0.0005 |< 0.0005
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EH T =2V 7 A ke )

(HEFEMEA R R EY) &R FE N 576)

(BN :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HuX 44 A& R FTHT #h

1 X5 0030 0030

HEEE 000100 000500

FH VR (m) 80 75

& RIFF EHPE EHPE

Fi&IX 5y HERAK HERAK

PAKEH H R5. 6. 27 R6.1.23 R5. 6. 27 R6.1.23

KIE(C) 23.5 8.0 23.2 1.5

XS (nS/m) 21 22 19 21

pH 6.6 6.5 AR R S 6.5 6.5 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0.0019 0.0017 0.0018 [< 0.0005 [< 0.0005 [< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HX 4 ¥ % H HrHT

1 X5 0030 0030

HEEE 000800 002200

FHF VR (m) 60 79

& RHFF EHPE EHPE

Hi&X 5y — % ER A HERAK

PAKEH H R5. 6. 27 R6.1.23 R5. 6. 27 R6.1.23

KIE(C) 17.3 16.0 26.0 15.5

XS (mS/m) 29 217 18 18

pH 6.6 6.5 A 6.5 6.6 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL 0. 0006 0. 0006 0. 0006 0.0014 0.0013 0.0014
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EH T =2V 7 A ke )

(GHEFEMEA R EY) &R FE R 57

(BT :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HX 4 =] AT

1 X5 0030 0040

HEEE 002700 000600

FH VR (m) N 50

& RIFF B ;]

Fi&IX 5y HERAK — & e

PAKEH H R5. 6. 27 R6.1.23 R5. 6. 27 R6.1.26

KIE(C) 23.4 12.0 15.7 14.0

XS (nS/m) 22 23 14 16

pH 6.6 6.5 AR R S 7.0 6.9 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrrauTFL 0. 0040 0. 0034 0.0037 [< 0.0005 [< 0.0005 [< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HuX 44 E=E N TRIRET

1 X5 0040 0050

HEEE 004000 000100

FHF VR (m) 100 70

& RHFF EHPE EHPE

Hi&X 5y HERAK TEAK

PAKEH H R5. 6. 27 R6.1.23 R5. 6. 30 R6.1.24

KIE(C) 22.1 12.0 16.0 15.0

XS (mS/m) 13 24 25 26

pH 8.1 1.0 A 6.8 6.9 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FrS/unTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
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EH T =2V 7 A ke )

(AR R EY) &R FE N 778)

(BN :mg/L)

X HET A4 ®RM &R

M XHET = —R 201 201

HX 4 B SFHT TRIRET

1 X5 0050 0050

HEEE 001000 001400

FH VR (m) 100 80

& RIFF EHPE EHPE

Fi&IX 5y TEAK ZDfth

PAKEH H R5. 6. 30 R6.1.24 R5. 6. 30 R6.1.24

KIE(C) 16.0 13.5 17.3 13.0

XS (nS/m) 26 26 25 25

pH 6.7 6.8 AR R S 6.5 6.6 AR RS2 i
Da=1=3 % %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUsEAb iR R < 0.0002 < 0.0002 < 0.0002 |<0.0002 (< 0.0002 (< 0.0002
JanxFLy < 0.0002 [< 0.0002 [< 0.0002 |< 0.0002 |< 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->Z/aaxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yoa=k < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
N ZamzFL 0. 001 0. 001 0. 001 0. 001 0. 001 0. 001
FrrauTFL < 0.0005 [< 0.0005 [< 0.0005 |< 0.0005 (< 0.0005 |< 0.0005
T X T 4 &iR™ £iR™

XA = —R 201 201

HX 4 = BT E| BT

1 X5 0070 0070

HEEE 001900 002300

FHF VR (m) B 65

& RHFF B EHPE

Hi&X 5y HERAK — % ER A

PAKEH H R5. 6. 26 R6.1.22 R5.6.29 R6.1.22

KIE(C) 25.5 9.0 16.4 14.0

XS (mS/m) 40 31 24 25

pH 6.7 6.8 A 1.0 7.1 A
D a=1=5% %4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU R SR < 0.0002 < 0.0002 (< 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
VA=i= s S A < 0.0002 < 0.0002 < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002
1,2-Yruax iy < 0.0004 [< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1->/apxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-v/raxFlry < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-M)ranxgy < 0.0005 < 0.0005 < 0.0005 |[< 0.0005 (< 0.0005 (< 0.0005
1,1,2-N)yuaxx < 0.0006 [< 0.0006 [< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
[P A==t S P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FrS/unTFL < 0.0005 [< 0.0005 |< 0.0005 0. 0007 0. 0008 0. 0008
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EH T =2V 7 A ke )

(AR R A AR ER9) (B meg/L)

7 XA 4 ®RM

i XHT A = — 201

HuX 44 BEERET

1 X5 0070

HEEE 003000

FH VR (m) H

& RH A B

Hi&X 5y HERAK

PKEH H R5. 6. 26 R6.1.22

KIE(C) 17.5 13.3

XS (nS/m) 31 30

pH 6.9 1.0 GRS
Da=1=3 % %4 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 < 0.0002 [< 0.0002
JanxFLy < 0.0002 < 0.0002 |< 0.0002
1,2-/anxiy < 0.0004 [< 0.0004 [< 0.0004
L, 1-Yr/ruaxFlLy < 0.002 < 0.002 < 0.002
1,2-Y/uaaxIL <0.004 [<0.004 [<0.004
L1,1-M)ranxz < 0.0005 [< 0.0005 |< 0.0005
1,1,2-RN)yarxk < 0.0006 < 0.0006 |< 0.0006
N ZamzFL < 0.001 < 0.001 < 0.001
FrFruuTFL 0.0010 [< 0.0005 0. 0008
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EWE=2Y T ) (B3R AR IS 1) (BN :mg/L)
1 XHT A4 INATH INATH

HRET A2 —FR 203 203

X4 Edli) FEAHET

HIXE 5 0050 0410

HFEES 000100 000100

R () 70 40

ERHF RHP RHP

R&X 5y IXEAK Z Dtk

BKFEH A R5.7.10 R5.12.5 R5.7.10 R5.12.5

ZKIE(C) 19.5 18.0 18.6 17.0

HRAREFHE (mS/m) 55.0 53.9 326 226

pH 1.3 1.4 EHEE 6.9 7.0 M EE
== 0.035 0.037 0.036 0.012 0.015 0.014
T XHT A4 INRTH IMNATH

HRETR = —R 203 203

X4 S ITHT L /NRET

HIXE 5 0490 0600

HFEES 001300 000100

R (m) B B

& RHF B TH

R&EX 5y T Dt Z Dtk

BKFEHH R5.7.10 R5.12.5 R5.7.10 R5.12.5

ZKIE(C) 18.2 9.6 20.4 16.5

HRAREFHE (mS/m) 29.3 26.2 64.0 62.3

pH 6.6 6.6 EHEE 1.2 7.6 M EE
== 0.012 0.009 0.011 0.026 0.026 0.026
T XHT A4 ST WS

it KA = —F 204 204

X4 & S HET FIRITET = ™ 15

H X 5 0230 1190

HFEES 000100 000100

FHFEREE (m) 30 1

K RHF ) EHF

M&EX Sy —fi%Er A — &R

PKAEH A Rb.7.26 | R5.11.27 R5.7.26 | R5.11.27

ZKIE(C) 21.5 11.2 21.7 11.0

BERAZE R (mS/m) 22.3 22.6 16.7 15.9

pH 8.1 8.4 FHEEE 1.0 6.8 M EE
= 0.011 0.010 0.011 0.010 0.008 0.009
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EME=2Y 7 ) (B3R AR FEhES52) (A7 : mg/L)
1 XHT A4 RN mEM

HRET A2 —FR 205 206

X4 L FHET th SH#T

HIXE 5 0040 0620

HFEES 001600 000100

R () THA 22

ERHF B8 EHF

R&X 5y ATERAK HERK

BKFEH A R5. 8. 21 R5.12.5 R5.7.13 | R5.12.14

ZKIE(C) 22.0 13.0 18.8 17.7

HRAREFHE (mS/m) 33.7 10.4 37.9 37.6

pH 6.1 6.7 EHEE 1.2 7.6 M EE
== 0.012 0.009 0.011 0.014 0.011 0.013
T XHT A4 PIMETH FIVET

M XETA = —R 207 207

X4 ZEfT ZEHT

HIXE 5 0050 0050

HFEES 000600 000700

R (m) THA 30

& RHF EHF TH

R&EX 5y T Dt TIEAK

BKFEHH R5.7.13 Rb.12.4 R5.7.13 R5.12. 4

ZKIE(C) 17.0 15.0 18.5 14.2

HRAREFHE (mS/m) 29.2 28.6 21.3 29.1

pH 8.2 8.5 EHEE 1.9 1.7 M EE
== 0.014 0.013 0.014 0.014 0.014 0.014
T XHT A4 PIMETH FIVET

HRETR = —R 207 207

X4 ARTHT KIIET

X E = 0130 0250

HFEES 000100 000400

FHFEREE (m) 60 10

e IRHF RHPF EHF

Ri&X 5 TIEAK HERK

PKAEH A R5.7.13 Rb.12.4 R5.7.13 -

ZKIE(C) 17.0 16.0 17.0 -

BERAZE R (mS/m) 27.0 26.7 48. 1 -

pH 1.2 1.2 FHEEE 9.1 - M EE
=== 0.028 0.032 0.030 0.57 - 0.57
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EME=2Y 7 ) (B3R AR FEHE533) (A7 : mg/L)
1 XHT A4 PIETH FIvET

HRET A2 —FR 207 207

X4 KIJIET KINET

HIXE 5 0250 0250

HFEES 000700 000800

R () THA 28

BRI <ER TBH

R&X 5y ATERAK HERK

BKFEH A R5.7.13 R5.12. 4 R5.7.13 R5.12. 4

ZKIE(C) 17.0 7.5 18.0 15.8

HRAREFHE (mS/m) 30.8 28.3 29.5 28.3

pH 8.5 8.6 EHEE 8.4 8.3 M EE
== 0.029 0.029 0.029 0.014 0.012 0.013
T XHT A4 PIMETH FIVET

M XETA = —R 207 207

X4 KIJIET KINET

HIXE 5 0250 0250

HFEES 000900 001200

R (m) B TBA

R <ER TBH

R&EX 5y HETERAK HEERAK

BKFEHH R5.7.13 R5.12. 4 R5.7.13 R5.12. 4

ZKIE(C) 17.0 15.8 17.0 15.2

HRAREFHE (mS/m) 32.7 33.4 30.2 29.0

pH 8.3 8.3 EHEE 8.2 8.4 M EE
== 0.013 0.012 0.013 0.014 0.014 0.014
T XHT A4 PIMETH EEE

HRETR = —R 207 211

HiX 4 FIVEHT (i m]:iy

X E = 0270 0080

HFEES 000100 000200

FHFEREE (m) 50 70

e IRHF ) B

Ri&X 5 HTERAK HERK

PKAEH A R5.7.13 | R5.12.13 R5.7.20 | R5.12.11

ZKIE(C) 19.5 14.2 19.8 16.0

BERAZE R (mS/m) 45.6 44.4 70.7 73.8

pH 8.2 8.5 M EME 8.4 8.7 EMEME
=== 0.011 0.011 0.011 0.021 0.018 0.020
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EME=2Y 7IERE RS (63 a ) RER 7 4) (A7 : mg/L)
1 XHT A4 REETH ST

HRET A2 —FR 211 211

HiX 4 KEREFHT KEEFHET

HIXE 5 0260 0260

HFEES 000200 000400

R () 30 70

ERHF EHF TH

R&X 5y ATERAK HERK

BKFEH A R5.7.20 | R5.12.11 R5.7.20 | R5.12.11

ZKIE(C) 17.5 15.1 18.8 16.5

HRAREFHE (mS/m) 25.7 26. 6 27.8 28.0

pH 6.5 6.7 EHEE 6.5 6.8 M EE
== 0.028 0.028 0.028 0.024 0. 005 0.015
T XHT A4 SRR ET PR BT

M XETA = —R 361 365

HX 4 popi piric]

HIXE 5 0190 0070

HFEES 000100 000100

R (m) 180 4

& RHF RHPF EHF

R&EX 5y HETERAK HEERAK

BKFEHH R5.9.19 - R5.7.11 | R5.12.14

ZKIE(C) 22.3 - 18.0 16.0

HRAREFHE (mS/m) 35.8 - 24.6 41.7

pH 1.4 - I E 1.3 1.2 R E
== 0. 069 - 0. 069 0.011 0.023 0.017
T XHT A4 PR T PR BT

HRETR = —R 365 365

X4 bt ric] B4 B

X E = 0070 0090

HFEES 000200 000100

FHFEREE (m) 200 1~8

e IRHF ) EHF

Ri&X 5 TIEAK HERK

PKAEH A Rb.7.11 | R5.12.14 R5.7.11 | R5.12.14

ZKIE(C) 22.5 20.2 22.0 1.5

BERAZE R (mS/m) 32.4 30.1 21.5 22.0

pH 7.1 7.3 M EME 7.4 1.5 EMEME
=== 0.018 0.017 0.018 0.032 0.030 0.031
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EHE=FV 7 ) (63 AR ER575) (BLA7 :mg/L)
T XET R4 SHEHET HhRE S HT

HXET A= —R 384 407

Hi[X 4 BRI REEME

HX = 1040 0340

HFAES 000200 000100

FH G (m) 4 80

& EHF Nz FHF

R X5y ZDfth TIEAK

BOKFEHH R5.7.26 | R5.12.12 R5.7.19 -

7KIE(C) 18.2 15.5 16.5 -

ERUREZ (mS/m) 40.5 40.2 23.17 -

pH 1.4 8.1 EHEE 6.5 - M EE
=== 0. 008 0.009 0.009 0.012 - 0.012
T XHT A4 73K ET 737K ET

it KA = —F 461 461

Hi[X 4 b ttiE

HX = 0040 0120

HFAES 000100 000300

F P GREE (m) 30 PN

AR FHF T

& X5y AERK —heER A

BOKFEHH R5.7.20 R5.12.4 R5.7.20 R5.12.4

7KIE(C) 21.0 13.0 17.0 16.0

ERUREZ (mS/m) 23.3 22.7 18.1 17.9

pH 1.2 1.2 EHEE 1.4 7.8 M EE
=== 0.012 0.014 0.013 0.017 0.017 0.017
T XHT A4 73K ET 737K ET

it KA = —F 461 461

Hi1 X 4 &kor & &y E

HX 0140 0140

HFEES 000100 000400

FH G (m) 65 60

- RHF FHF EHF

X 5y AFERAK 4FERAK

BKEA B R5.7.20 R5.12.4 R5.7.20 R5.12.4

ZKIE(C) 15.0 13.4 24.0 13.2

BERAREFE (mS/m) 14.1 14.0 15.3 14.9

pH 6.9 1.0 FHEEE 6.8 7.1 M EE
== 0.022 0.017 0.020 0.017 0.025 0. 021
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EHE=FV T ) (e3F: AR E576) (BAZ :mg/L)
1 XHT A4 7 IKHET AEESHT

HXET A= —R 461 463

Hi1 X A tiE FHELS

HX = 0150 0010

HFAES 000100 000600

R () 5 TH

ERHF EHF N

R&X 5y ATERAK ATERAK
BOKFEHH R5.7.20 | R5.12.4 R5.8.7 | R5.12.5

7KIE(C) 15.5 14.2 17.5 16.0
ERUREZ (mS/m) 13.0 14.2 24.9 24.8

pH 7.0 7.1 |[FEREAE 9.3 9.5 [FRHIEHE
=== 0.013 0.014] 0.014 0.014 0.014] 0.014
T XHT A4 REESHT

XA R = —R 463

HX 4 N4

HX = 0240

HFAES 000200

R (m) 10

& RHF EHPE

R&EX 5y ATERAK

BOKFEHH R5.8.7 | R5.12.5

7KIE(C) 19.0 15.7

HRAREFHE (mS/m) 23.0 20. 3

pH 1.2 1.6 [FEREHIE

=== 0.008 0.010] 0.009
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EME=H) 7 PEGRGES) (EERMER K OF RS AR FEMS) (EALimg/L)
1 XHT A4 INATH INATH

HRET A2 —FR 203 203

X4 a] A 7 BT A 7 47 BT

HIXE 5 0510 0510

HFEES 000100 000300

R () 4 TBA

ERHF EHF TH

R&X 5y IXEAK HERK

BKFEH A R5.7.10 R5.12.5 R5.7.10 R5.12.5

ZKIE(C) 17.8 17.1 17.7 17.3

HRAREFHE (mS/m) 21.7 19.9 17.5 16.6

pH 6.7 6.6 EHEE 6.6 6.5 M EE
THEAYEZE R R OV iR 2 3R 3.8 4.5 4.2 6.8 9.0 1.9
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EBE =20 7 A ke

) (TyFE A)NREmDD

(A7 : mg/L)

1 XHT A4 mmET mEM

HRET A2 —FR 206 206

X4 hnysE BT 1€ RHET

HIXE 5 0370 0500

HFEES 000200 000200

R () 5 TBA

ERHF EHF TH

R&X 5y T Dt HERK

BKFEH A R5.7.13 | R5.12.14 R5.7.13 | R5.12.14

ZKIE(C) 18.1 9.8 19.1 10. 1

HRAREFHE (mS/m) 65.9 61.2 28.8 217.9

pH 1.4 1.7 EHEE 1.7 1.7 M EE
T 1.0 1.0 1.0 1.2 1.1 1.2
T XHT A4 mET mET

HRETR = —R 206 206

HX 4 £ RHET 1€ RHET

HIXE 5 0500 0500

HFEES 000300 000400

HF PR (m) 10 PN

& RHF B TH

R&EX 5y HETERAK HEERAK
BKFEHH R5.7.13 | R5.12.14 R5.7.14 | R5.12.14

ZKIE(C) 19.5 1.7 19.8 16.3

HRAREFHE (mS/m) 28.3 28. 1 31.2 31.8

pH 1.7 1.6 EHEE 1.5 1.7 M EE
T 1.0 1.1 1.1 1.3 1.3 1.3
T XHT A4 mEM PFIVETH

HRETR = —R 206 207

HiX 4 £ R ET KIIET

X E = 0500 0250

HFEES 000800 000400

FHFEREE (m) 50 10

e IRHF ) EHF

Ri&X 5 HTERAK HERK

PKAEH A Rb.7.13 | R5.12.14 R5.7.13 -

ZKIE(C) 21.5 11.0 17.0 -

BERAZE R (mS/m) 25.1 24.7 48. 1 -

pH 1.7 1.7 FHEEE 9.1 - M EE
Ty 0.94 0.84 0.89 1.3 - 1.3
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EHE=2) 7 PE ke

) (TyFE A)NREmS2)

(A7 : mg/L)

i XHET 14 B AEETH
HXETAF=2—R 210 211

H1X 4 i) (T m]:g

X5 1030 0080

HE& 001400 000200

H PR (m) 10 70

R EHF i

X 5y Z Dt 4 ERK

BOKEA B R5.7.18 - R5.7.20 | R5.12. 11

ZKIR(C) 18.0 - 19.8 16.0

BRI E SR (mS/m) 1217 - 70.7 73.8

pH 7.3 - I E 8.4 8.7 | fERIVHE
7R 0.33 - 0.33 0. 81 0.80 0. 81
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TE T =5 7 A (ke B 1)

(AR 38 )| S 57)

(A7 : mg/L)

1 XHT A4 INATH INATH

HRET A2 —FR 203 203

X4 A BT P ET

HIXE 5 0410 0700

HFEES 000100 000400
FFEEm) 40 80

ERHF RHP RHP

R&X 5y T Dt Z Dtk

BKFEH A R5.7.10 R5.12.5 R5.7.10 R5.12.5

ZKIE(C) 18.6 17.0 19.3 15.2

ERIREHE (mS/m) 326 226 64.3 80. 6

pH 6.9 1.0 EHEE 6.6 6.7 M EE
RNYES 2.6 1.8 2.2 0.4 0.5 0.5
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